
10. Drag the line through the hook cover and the hook and
make a knot in the end.

11. Apply black tape to cover up the knot.

12. Apply glue inside the hook cover to make it stick to the hook.

Changing the Turtle X 
spring balancer

Tools that are needed:

 -   Screwdriver
-   Hexagon keys 4 mm and 5 mm
-   Universal screw spanner
-   Spring cord tool

www.easyrig.com

Changing the Easyrig Mini
spring balancer

10. Drag the line through the hook cover and the hook and
make a knot in the end.

11. Apply black tape to cover up the knot.

12. Apply glue inside the hook cover to make it stick to the hook.

Changing the Turtle X 
spring balancer

Tools that are needed:

 -   Screwdriver
-   Hexagon keys 4 mm and 5 mm
-   Universal screw spanner
-   Spring cord tool

www.easyrig.com



2. Remove the plastic cover on the camera hook
and open the knob.

3.Remove the spring balancer by opening the
M4 x 35 mm screw.

4. Put the new feather package in position. 5. Inside the spring balancer is a loose wheel. It’s
important to have it in correct position. By using
the hexagon you can keep the wheel in position.

6. Mount the M4 x 35 screw. When the screw is 
through the nut it’s perfect, otherwise the cover can 
bend.

7. Mount the line through the arm by using the
spring cord tool.

8. Mount the line through the bend arm over
the wheels.

9. Mount the line through the adjustment block.

1. Remove the plastic cover by 
removing the four knobs. Take out 
the support bar.



2. Remove the plastic cover on the camera hook
and open the knob.

3.Remove the spring balancer by opening the
M4 x 35 mm screw.

4. Put the new feather package in position. 5. Inside the spring balancer is a loose wheel. It’s
important to have it in correct position. By using
the hexagon you can keep the wheel in position.

6. Mount the M4 x 35 screw. When the screw is 
through the nut it’s perfect, otherwise the cover can 
bend.

7. Mount the line through the arm by using the
spring cord tool.

8. Mount the line through the bend arm over
the wheels.

9. Mount the line through the adjustment block.

10. Drag the line through the hook cover and the hook and
make a knot in the end.

11. Apply black tape to cover up the knot.

12. Apply glue inside the hook cover to make it stick to the hook.

Changing the Turtle X 
spring balancer

Tools that are needed:

 -   Screwdriver
-   Hexagon keys 4 mm and 5 mm
-   Universal screw spanner
-   Spring cord tool

www.easyrig.com

10. Drag the line through the hook cover and the hook and
make a knot in the end.

11. Apply black tape to cover up the knot.

12. Apply glue inside the hook cover to make it stick to the hook.

Changing the Turtle X 
spring balancer

Tools that are needed:

 -   Screwdriver
-   Hexagon keys 4 mm and 5 mm
-   Universal screw spanner
-   Spring cord tool

www.easyrig.com



10. Drag the line through the hook cover and the hook and
make a knot in the end.

11. Apply black tape to cover up the knot.

12. Apply glue inside the hook cover to make it stick to the hook.

Changing the Turtle X 
spring balancer

Tools that are needed:

 -   Screwdriver
-   Hexagon keys 4 mm and 5 mm
-   Universal screw spanner
-   Spring cord tool

www.easyrig.com


